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Certain numbers of persons are sitting in a linear row facing north. Only three persons 
sit between V and T who sits left of V. O is an immediate neighbour of N and sits third 
from one of the ends. X sits third to the left of S. Five persons sit between V and P who 
sits at the extreme end. The number of persons sits to the left of T is one more than the 
number of persons sits to the right of N. Six persons sit between O and X. Seven persons 
are sitting between S and V. 

एक रेखीय पंक्ति में कुछ व्यक्ति उत्तर की ओर मुख करके बैठे हैं। V और T के मध्य केवल िीन
व्यक्ति बैठे हैं, जो V के बायें बैठा है। O, N का ननकटिम पडोसी है और ककसी एक छोर से िीसरे स्थान
पर बैठा है। X, S के बाएं से िीसरे स्थान पर बैठा है। V और P के बीच पांच व्यक्ति बैठे हैं, जो अंनिम
छोर पर बैठा है। T के बायीं ओर बैठे व्यक्तियों की संख्या N के दायीं ओर बैठे व्यक्तियों की संख्या से
एक अधिक है। O और X के बीच छह व्यक्ति बैठे हैं। S और V के बीच साि व्यक्ति बठेै हैं।
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13) Who among the following person sits immediate left of O?
ननम्नललखखि में से कौन O के ठीक बायें बैठा है?
a) One who sits second to the left of T b) S 
c) One who exactly sits between V and X d) X 
e) One who sits third to the right of S

14) How many seats are placed in the linear Row? 
लीननयर रो में ककिनी सीटें रखी गई हैं?
a) 20 b) 18 c) 21 d) 23 e) None of these

15) Who among the following person sits fourth to the 
right of T?
ननम्नललखखि में से कौन T के दायें से चौथे स्थान पर बैठा 
है?
a) One who exactly sits between P and X b) X 
c) One who sits fifth to the left of X d) O 
e) None of these
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16) What is the position of S respect to N? 
N के सन्दर्भ में S का स्थान तया है?
a) Fourth to the right b) Fifth to the left 
c) Third to the left d) Second to the left 
e) None of these

17) How many seats are placed between S and T? 
S और T के मध्य ककिनी सीटें रखी गई हैं?
a) 10 b) 11 c) 9 d) 12 e) None of these
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18. Which of the following element is exactly between“+” and “Q"?
ननम्नललखखि में से कौन सा ित्व “+” और “Q” के ठीक बीच में है?
A.V B.@ C.O D.4 E.L

19. How many such vowels are there each of which is immediately 
followed by symbols? 
ऐसे ककिने स्वर हैं क्जनमें से प्रत्येक के ठीक बाद प्रिीक हैं?
A.None B.One C.Two D.Three E.More than three
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20. Four of the following five are alike in a certain way and hence 
form a group. Which one of the following that does not belong to 
the group? 
ननम्नललखखि पांच में से चार एक ननक्चचि िरीके से समान हैं और 
इसललए एक समहू बनािे हैं। ननम्नललखखि में से कौन सा समहू से 
सबंंधिि नहीं है?
A.A20 B.H#5 C.4@S D.7*& E.ZX8

21. Which of the following element is fourth to the left of the 
fourteenth element from the right end? ननम्नललखखि में से कौन सा
ित्व दायें छोर से चौदहवें ित्व के बायें चौथा है?
A.F B.+ C.5 D.M E.V
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22. How many pairs of letters are there in the word “MONITOR” each of which 
has as many letters between them in the word as in the English alphabetical 
series (both forward and backward direction)? 
शब्द “MONITOR” में अक्षरों के ऐसे ककिने जोड ेहैं, क्जनमें से प्रत्येक के बीच 
उिने ही अक्षर हैं क्जिने कक अगें्रजी वर्भमाला श्रंखला (आगे और पीछे दोनों 
ददशाओं में) में हैं?

A.1 B.2 C.3 D.4 E.None of these
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Seven persons – P, Q, R, S, T, U, and V are sitting in a row facing north but not 
necessarily in the same order. Neither R nor S sits adjacent to T. P sits third from 
the left end. A person sitting adjacent to P sits four places away from U. Neither P 
nor U sits adjacent to R, who sits three places away from S. Q sits two places left of 
T. 

साि व्यक्ति - P, Q, R, S, T, U और V एक पंक्ति में उत्तर कीओर मखु करके बैठे हैं लेककन
आवचयक नहीं कक इसी क्रम में हों। न िो R न ही S, T के आसन्न बैठा है। P बाएं छोर से िीसरे
स्थान पर बैठा है। P के ननकट बैठा एक व्यक्ति U से चार स्थान दरू बैठा है। न िो P और न ही U, 
R के आसन्न बैठा है, जो S से िीन स्थान दरू बैठा है। Q, T के बायें दो स्थान पर बैठा है।
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23) The number of persons sitting to the left of V is one 
more than the number of persons to the right of _____? 
V के बाईं ओर बैठे व्यक्तियों की संख्या _____ के दाईं 
ओर बैठे व्यक्तियों की संख्या से एक अधिक है?
a) P b) T c) U d) S e) None of these

24) What is the position of S with respect to Q? 
Q के सन्दर्भ में S का स्थान तया है?
a) Second to the right b) Immediate left c) Third to the 

left 
d) Immediate right e) None of these. 

25) How many persons are sitting between V and S? 
V और S के मध्य ककिने व्यक्ति बैठे हैं?
a) As many as between P and U. b) Three c) As many as 
to the right of U. d) Two e) Either C or D
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26) Find the odd one out? 
ववषम चुनें?
a) RP b) SU c) SV d) QT e) PU

27) Which of the following statement is/are not true? 
ननम्नललखखि में से कौन सा/से कथन सत्य नहीं है/हैं?
I. R sits at the left end of the row. 
II. Three persons are sitting between S and T. 
III. Two persons are sitting between person 
immediate right of U and Q. 
a) Both II and III b) Only III c) Only I 
d) Both I and II e) None of these 
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Eight people are L, M, N, O, P, Q, R, and S celebrate their birthday on different dates of the different 
month. The birthday of each person is on either 18th or 25th of any month among August, September, 
October, and November but not necessarily in the same order. No two persons celebrate their birthday 
on the same date of the same month. N celebrates his birthday on an even numbered date of the 
month which has an even number of days. The number of persons celebrates birthday before S is one 
more than the number of persons celebrates birthday after M, who celebrates birthday on one of the 
months after S.O celebrates birthday immediately before R.Three persons celebrate the birthday 
between P and M, both of them not celebrate their birthday on November. L celebrates his birthday on 
18th August. 

आठ व्यक्ति L, M, N, O, P, Q, R, और S अलग-अलग महीने की अलग-अलग िारीखों पर अपना जन्मददन मनािे
हैं। प्रत्येक व्यक्ति का जन्मददन अगस्ि, लसिंबर, अतटूबरऔर नवंबर के बीच ककसी र्ी महीने की 18 या 25 िारीख
को होिा है लेककन जरूरी नहीं कक इसी क्रम में हो। कोई र्ी दो व्यक्ति एक ही महीने की एक ही िारीख को अपना
जन्मददन नहीं मनािे हैं। N अपना जन्मददन उस महीने की सम संख्या वाली िारीख को मनािा है क्जसमें ददनों की
संख्या सम होिी है। S से पहले जन्मददन मनाने वाले व्यक्तियों की संख्या, M के बाद जन्मददन मनाने वाले
व्यक्तियों की संख्या से एक अधिक है, जो SO द्वारा R के ठीक पहले जन्मददन मनाने के ककसी एक महीने में
जन्मददन मनािा है। P और M के बीच िीन व्यक्ति जन्मददन मनािे हैं, दोनों ही नवंबर को अपना जन्मददन नहीं
मनाि।े L 18 अगस्ि को अपना जन्मददन मनािा है।
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28. Who among the following person celebrates birthday on August 25th? 
ननम्नललखखि में से कौन 25 अगस्ि को जन्मददन मनािा है?
A.L B.The one who celebrates immediately before N. C.N 
D.S E.None of the above

29. Four of the following are alike in a certain way and hence form a group. 
Who among the following one does not belong to the group? ननम्नललखखि में 
से चार एक ननक्चचि िरीके से समान हैं और इसललए एक समूह बनािे हैं। 
ननम्नललखखि में से कौन समूह से संबंधिि नहीं है?
A.P B.S C.The one who celebrates on October 25th D.R 
E.The one who celebrates on October 18th

30. Which of the following statement is/are true? 
ननम्नललखखि में से कौन सा/से कथन सत्य है/हैं?
A.L celebrates hisbirthday on September 
B.Two persons celebratethe birthday between N and M 
C.R celebrates birthday on the same date of N 
D.S celebrates birthday immediately after P 
E.None of these
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31. On which of the following date does M celebrates his 
birthday?
ननम्नललखखि में से ककस िारीख को M अपना जन्मददन 
मनािा है?
A.October 25th B.October 18th C.August
25th 
D.September 18th E.November 18th

32. As many persons celebrates birthday between P and 
Q is same as between __ and __? 
P और Q के बीच क्जिने व्यक्ति जन्मददन मनािे हैं उिने 
ही __ और __ के बीच मनािे हैं?
A.N, L B.S, O C.O, M D.None of these E.S, Q
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a) If only conclusion I follows. 
b) If only conclusion II follows. 
c) If either conclusion I or II follows. 
d) If neither conclusion I nor II follows. 
e) If both conclusions I and II follows.

33. Statements: 
C ≥ D ≤ F < E; M ≥ F < L; D > N ≥ O 
Conclusions: I). C > N II). M > O

34. Statements: B ≥ A > C = O; A < L ≥ M; C ≤ N ≤ Z 
Conclusions: I). B ≤ M II). O ≤ Z

35.Statements: Z < O > P ≥ K < N; K ≤ L < M ≤ C; B ≥ Q 
< O Conclusions: I). B > P II). C ≥ P

36. Statements K > O ≥ L ≥ A ≤ C; N ≥ O ≤ W ≤ V; X > Y 
< A Conclusions: I). V > A II). V = A
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There are eight persons namely M, N, P, Q, R, S, T and U sitting in a circular table but not 
necessarily in same order. All of them face towards the center. They are sitting in such a way 
that each person maintains equal distance from immediate neighbors. There are two persons 
sitting between M and P. N sits third to the left of U. Only one person sits between N and R. 
There are two persons sit between S and Q. U is not an immediate neighbor of R. T sits 
immediate left of R. M is immediate neighbor of S. P is not an immediate neighbor of Q. Neither 
N nor T sits opposite of M.

आठ व्यक्ति अथाभि ्M, N, P, Q, R, S, T और U एक वरत्ताकार मेज पर बैठे हैं लेककन जरूरी नहीं कक इसी क्रम में
हों। उन सर्ी का मुख कें द्र की ओर है। वे इस प्रकार बैठे हैं कक प्रत्येक व्यक्ति ननकटिम पडोलसयों से समान दरूी
बनाए रखिा है। M और P के बीच दो व्यक्ति बैठे हैं। N, U के बाएं से िीसरे स्थान पर बैठा है। N और R के बीच
केवल एक व्यक्ति बैठा है। S और Q के बीच दो व्यक्ति बैठे हैं। U, R का ननकटिम पडोसी नहीं है। T ित्काल
बैठा है। R के बाएं। M, S का ननकटिम पडोसी है। P, Q का ननकटिम पडोसी नहीं है। न िो N और न ही T, M के
ववपरीि बैठा है।
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37. How many persons are sitting between S and R 
when counted from left of S? S के बायें से धगनने पर 
S और R के मध्य ककिने व्यक्ति बैठे हैं?
A.2 B.3 C.5 D.6 E.None of these

38. Who sits second to the left of U? 
U के बाएं से दसूरे स्थान पर कौन बैठा है?
A.M B.T C.N D.S E.None of these

39. Who sits opposite of P? P के ववपरीि कौन बैठा है?
A.R B.U C.N D.Q E.None of these 

40. Who sits second to the right of Q? Q के दायें से 
दसूरे स्थान पर कौन बैठा है?
A.T B.M C.N D.P E.None of these
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Study the following information carefully to answer the given questions:

Seven persons are lives in building which have seven floors. The bottom most floor is 
numbered as 1, and the floor above 1 is numbered as 2 and so on till the topmost 
floor is numbered as 7. Not more than three persons live above A. B lives 
immediately above A. Two person lives between B and C. D lives immediately above 
G and lives in even numbered floor. F lives above E. F doesn’t lives in 5th floor.

साि व्यक्ति उस इमारि में रहिे हैं क्जसमें साि मंक्जल हैं। सबसे ननचली मंक्जल की संख्या 1 है, 
और 1 के ऊपर की मंक्जल की संख्या 2 है और इसी िरह सबसे ऊपरी मंक्जल की संख्या 7 है। A के
ऊपर िीन से अधिक व्यक्ति नहीं रहिे हैं। B, A के ठीक ऊपर रहिा है। B के बीच दो व्यक्ति रहिे
हैं। और C. D, G के ठीक ऊपर रहिा है और सम संख्या वाली मंक्जल पर रहिा है। F, E के ऊपर
रहिा है। F, 5वें िल पर नहीं रहिा है।
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Study the following information carefully 
to answer the given questions:

Seven persons are lives in building which 
have seven floors. The bottom most floor 
is numbered as 1, and the floor above 1 is 
numbered as 2 and so on till the topmost 
floor is numbered as 7. Not more than 
three persons live above A. B lives 
immediately above A. Two person lives 
between B and C. D lives immediately 
above G and lives in even numbered floor. 
F lives above E. F doesn’t lives in 5th floor.

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

1) How many person lives between F and C? 
F और C के मध्य ककिने व्यक्ति रहिे हैं?
a) One b) Two c) Three d) More than Three e) None

2) What is the position of C with respect to the top of 
the floor?
मंक्जल के शीषभ के सन्दर्भ में C का स्थान तया है?
a) 6th b) 4th c) 3rd d) 5th e) 2nd

3) If all the persons are arranged alphabetical order 
from top most floor to bottom most floor, then how 
many persons floor remains unchanged? यदद सर्ी 
व्यक्तियों को सबसे ऊपरी मंक्जल से सबसे ननचले िल 
िक वर्ाभनुक्रम में व्यवक्स्थि ककया जािा है, िो 
ककिने व्यक्तियों की मंक्जल अपररवनि भि रहिी है?
a) 1 b) 2 c) 3 d) More than three e) None
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4) If F is related to A, similarly E is related to D in the 
given arrangement, In the same way C is related to ____? 
यदद F, A से संबंधिि है, उसी प्रकार दी गई व्यवस्था में E, 
D से संबंधिि है, उसी प्रकार C, ____ से संबंधिि है?
a) E b) D c) G d) B e) None of those given as option

5) Which of the following is true in the given 
arrangement?
दी गई व्यवस्था में ननम्नललखखि में से कौन सा सत्य है?
a) E lives is 4th floor 
b) Two persons are lives between B and D 
c) Number of person’s lives above D is same as below A 
d) Four persons are lives above C 
e) Both (a) and (d)
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